Secondary III 3-1 HW Name: _ C\eCted  fipswers

. Zeros of a Polynomial

Determine whether the given binomial is a factor of the polynomial p(x) . If so, find
the remaining factors of p(x).

12. p(x)=x"+2x* —x=2, (x+2) ®p(x)=2x4+6x3—5x—10, (x+2)
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p(x)=x3—22x2+157x—360, (x—8) 15.p(x)=4x>-12x>+2x—5, (x—3)
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1. f(x)=x>—x"—10x-8 @.f(x)=2x3—x2—l3x—6
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10. g(x)=x*—6x"+11x* — 6
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Q_S/ fx)= w4 = 1142 14. f(x)= X —4x*+2x+4
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( 17!) Identify the zeroes of flz) =[x+ 3){x — iz — 3}
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weite the function m standard forrm,
and state how the zers are related o the standasd fors
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ira was todd o find the zeros of the polynonial function

Rix) = xlz — 4)[x + 2}. She sated that the zeros of this polynomsl arex =,
r = —4, and x = 2. Explain her error.




